

DRILL

① Multiply: $(3x+2)(2x-4)$ = $6x^2 - 12x + 4x - 8$
 = $6x^2 - 8x - 8$

4, 9, 16, 25, ...
 = = = = =

② Simplify: $\sqrt{32} = \sqrt{16} \sqrt{2}$
 = $4\sqrt{2}$

Imaginary #'s

$$* \sqrt{-1} = i$$

$$i^4 = i^2 \cdot i^2$$
$$i^4 = (-1)(-1)$$
$$i^4 = 1$$

$i^1 = i$	←	:
$i^2 = -1$	←	:
$i^3 = -i$	←	:
$i^4 = 1$	←	:

Powers of "i"

$$i^9 = i^4 \cdot i^4 \cdot i^1$$
$$= (-1) \cdot (-1) \cdot i$$
$$i^9 = i$$

$i^5 = i^4 \cdot i$
 $i^6 = i^4 \cdot i^2$
 $i^7 = i^4 \cdot i^3$
 $i^8 = i^4 \cdot i^4$
 $i^9 = i^4 \cdot i^4 \cdot i$
 $i^{10} = i^4 \cdot i^4 \cdot i^2$
 $i^{11} = i^4 \cdot i^4 \cdot i^3$
 $i^{12} = i^4 \cdot i^4 \cdot i^4$
 $i^{13} = i^4 \cdot i^4 \cdot i^4 \cdot i$
 $i^{14} = i^4 \cdot i^4 \cdot i^4 \cdot i^2$
 $i^{15} = i^4 \cdot i^4 \cdot i^4 \cdot i^3$
 $i^{16} = i^4 \cdot i^4 \cdot i^4 \cdot i^4$
 $i^{17} = i^4 \cdot i^4 \cdot i^4 \cdot i^4 \cdot i$

$\sqrt{4} = 2$

$i^2 = (\sqrt{-1})^2$
 $i^2 = -1$

$i^3 = i^{\textcircled{1}} \cdot i^{\textcircled{2}}$
 $= (-1)(i)$

$$\begin{array}{l}
 .1 \\
 i = i \\
 .2 \\
 i = -1 \\
 .3 \\
 i = -i \\
 .4 \\
 i = 1
 \end{array}$$

* Any power of "i"

* Divide the exponent by 4 and make the remainder the new exponent.

Ex: ① $i^{15} = i^{\overset{.3}{3}} = \boxed{-i}$ ② $i^{42} = i^{\overset{.2}{2}} = \boxed{-1}$ ③ $i^{80} = i^{\overset{.0}{0}} = \boxed{1}$

4, 8, 12 ↑

$4 \overline{) 42} = 10 \text{ r } 2$

$$x^0 = 1$$

Simplify: $\sqrt{-9} = \sqrt{9} \sqrt{-1}$
 $= 3i$

4, 9, 16, 25, 36, ...

$$\begin{array}{l} \sqrt{32} \\ \uparrow \\ \sqrt{16} \sqrt{2} \\ \underline{\underline{4\sqrt{2}}} \end{array}$$

$$\begin{array}{l} \sqrt{-25} = \sqrt{25} \sqrt{-1} \\ = 5i \end{array}$$

$$\begin{array}{l} \sqrt{-32} = \sqrt{32} \sqrt{-1} \\ = 4i\sqrt{2} \end{array}$$

$$\begin{array}{l} i = \sqrt{-1} \\ (3i)(3i) = 9i^2 \\ = 9(-1) \\ = -9 \end{array}$$

Ex:
=

$$\begin{aligned}\sqrt{-8} &= \sqrt{8} \sqrt{-1} \\ &= \sqrt{4} \sqrt{2} \sqrt{-1} = 2i\sqrt{2}\end{aligned}$$

4, 9, 16, 25, ...
= =

$$\begin{aligned}\sqrt{-50} &= \sqrt{50} \sqrt{-1} \\ &= \sqrt{25} \sqrt{2} \sqrt{-1} = 5i\sqrt{2}\end{aligned}$$

$$\begin{aligned}\sqrt{-27} &= \sqrt{27} \sqrt{-1} \\ &= \sqrt{9} \sqrt{3} \sqrt{-1} = 3i\sqrt{3}\end{aligned}$$

Ex:

$$a) \sqrt{-45} = \sqrt{45} \sqrt{-1} = 3i\sqrt{5}$$
$$\sqrt{45} = \sqrt{9 \cdot 5} = \sqrt{9} \sqrt{5} = 3\sqrt{5}$$

$$b) \sqrt{-150} = \sqrt{150} \sqrt{-1} = 5i\sqrt{6}$$
$$\sqrt{150} = \sqrt{25 \cdot 6} = \sqrt{25} \sqrt{6} = 5\sqrt{6}$$

4.

9.

16.

25.

36.

⋮

⋮

$$\underline{\underline{\text{Ex:}}} \quad \underline{\underline{(4i^2)}} \underline{\underline{(2i)}} \underline{\underline{(2i)}} = 16i^4 = 16(1) = \boxed{16}$$

$$i^2 \cdot i^1 \cdot i^1 = i^4 =$$

$$\underline{\underline{\text{Ex:}}} \quad \underline{\underline{(3i^3)}} \underline{\underline{(2i)^2}} = \underline{\underline{(3i^3)}} \underline{\underline{(4i^2)}} = 12i^5 \\ = 12(i^1) \\ = \boxed{12i}$$

$$\underline{\underline{\text{Ex:}}} \quad (-\underline{3i})(\underline{6i}) = -18i^2 = -18(-1) = \boxed{18}$$

$$\underline{\underline{\text{Ex:}}} \quad (\underline{3i})^2(\underline{2i}) =$$
$$(\underline{3i})(\underline{3i})(\underline{2i}) = 18i^3 = 18(-i)$$
$$= \boxed{-18i}$$